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1. Which of the following pairs is not true?

(1) Stimulus-response

theory of
learning—Thorndike

(2) Operant conditioning theory of
learning—B. F. Skinner

43) Classical theory of learning—FPavlov

(4) Holistic theory of learning—Hull

2. Whose name is associated with Father
of the Eugenics™

@) Crow and Crow
(2) Galton

3. Who described different
personality based on glands?

(1) Kretschmer
(2) Jung

types of

(3) Cannon

4. “Creativity
express the original outcomes.”
statement is given by

Spranger

is a mental process to
This
(1) Cole and Bruce

(2) Drevahal

(3) Dehan

(4) Crow and Crow

\;. The tendency of Feeling of Revolt’ is
concerned with which of the following

C]‘ ages?
(1) Childhood
(2) Infancy
(3) Early adolescence

(4) Middle adolescence
-
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6. The period of learning, where no

1mprovement in performance is made,
is called

(1) learriing curve

(2) plateau of learning
(3) memory

(4) attention

7, The formula for calculating IQ is

(1) Mental age x Chronological age
2) Chronological age

Mental age

M
ental age %100

3 7
,( ) Chronological age

(4) Chronological age + Mental age

8. Who has propounded the law of trial and
error of learning? .

(1) Kohler

(2) Pavlov

(3) Thorndike
(4) Gestalt

{In a normal zygote, the number of
chromosomes in pair is

(1 22 ‘
(3) 24
4) None of the above

10. Operant condltlomng
propounded by

(1) Hull

theory  is

(2) Thorndike
(3) Hegarty
_ (4) Skinner ‘ ,

11. Kohler is associated with which' of the

following? 4% 5es

(1) Theory of motivation

(2) Theory of development

(3) Theory of personality

(4) Theory of learning

[ P.T.O.
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12. Fluid mosaic model of intelligence was
proposed by

(1) Cattell

(2) Thorndike
(3) Vernon

(4) Skinner

Brainstorming model of teaching is used
to improve which of the following?

(1)
(2)
(3)
(4)

13.

Understanding
Application
Creativity

BRI N |

Problem solving y

Goleman is associated with which of the
following?

(1)
(2)
(3)
(4)
Find the odd one-8ut.

14.

Social intelligence
Emotional intelligence
Spiritual intelligence

General intelligence
VS

15.
(1) __T.Theory of learning to learn

(2) Theory of identical elements

(3) Drive reduction theory

(4) Theory of generalization

’.I‘he lowest level of cognitive achievement
is

(1) knowledge

(}6’.

.2 understanding
(3) application

(4) analysis

N

17./A boy who can ride a cycle' is go'ir{g to
drive a motorbike. This is an example of

Al
(2)
(3)
(4)

horizontal transfer of learning
vertical transfer of learning
bilateral transfer of learning

No transfer of learning

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click ed by CamScanner



18.?ﬁ@rﬁq—mm‘w%wwmqﬁ
?

(1) SO 1 H_

A (2} Ferrem = s
(8) wRifeh
(4) W H

19. “wftrm, IgdE R UMEW ¥ wRummerey

ER | e ®1 T’ o s g R
T ?

U T T I
(2) =HA 3R fifereve
@) fEw
(4) HHASSH
20. WABE-To W’ qo war ¥
(1) <afpedl =l
(2) UG i q&TaT H
LR e
(4) S 3§ ¥ s T

21. d =Ifra T AR =Rea o i

(1) »™&e
Jor T g
A T
(4) TR
22. 9= % WIS fEm A pfh w A
b & .
(1) el o=
(3) wfsa
(4) SFIG a

zs.ﬁﬁ?qgﬁw-mﬂmﬂwm
? o

1y R T @ P B
2) fafa e w1 fam i

¥ g R e
IN@) wer o e T § T W
Tram

Paper-1/B

18. Which of the following is not the cause
of plateau of learning? o

(1) Limit of motivation
(2) Non-cooperation of school
(3) Physiological limit
(4) Limit of knowledge
19. “Learning is the modification of

bel}ayiour through experience and
training.” This statement was given: by

(1) Gates and others

(2) Morgan and Gilliland
(3) Skinner

(4) Cronbach

20. ‘Stanford-Binet Test’ measures
(1) personality
(2) reading efficiency
(3) intelligence
(4) None of the above

.y
21. Who has classified introvert personality
and extrovert personality?

(1) Freud
(2) Jung
(3) Munn
(4) Allport
22. The factors affecting the social
development of children are S
(1) economic elements
(2) social-environmental elements
(3) physical elements
(4) hereditary elements
23. Which of the following is a primary law
of physical development?

(1) Law of difference from mental
development

(2) Law of irregular development
(3) Law of rapid growth

(4) Law of relation from imagination
and emotional development

{ PT.O.
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24.

25. ¢

26.

27.

28.

29.

30.

Which of the following is not the theory
of development?

(1) Theory of conditioned reflex
(2) Theory of continuous growth
(3) Theory of interrelation

(4) Theory of uniform pattern
Development results in

characteristics and new abilities.”
statement is given by

(1) Gesell

(2) Hurlock

(3) Meredith Yoo, 2

(4) Douglas and Holland

{)nstincts are classified in fourteen types
y

(1) Drever

(2) McDougall

(3) Thorndike

(4) Woodworth

“Attention is the concentration of

consciousness upon one object rather

than upon another.” This statement is

given by _

(1) Dumville

(2) Ross

(3): Munn

(4) McDougall 7y .

Which is not mcluded in pnma;'y 14w of

learning? | tage

(1) Law of readiness

(2) Law of exercise -

(3) Law of multiple response

(4) Law of effect

Which test is propounded by Dr. S.

Jalota in Hindi for the children of 12 to
16 years?.

(1) Non-verbal 1nte111gence test

(2) General mental ability test

(3) Army alpha test

(4) Picture drawing test

new
This

Who  propounded the two-factor
theory of intelligence?

(1) Thorndike

(2): ' Spearman ~ e

(8) Vernon . 8T
(4) Stern .
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q—III / PART—III

®

W11 (37st) / Language-II (ENGLISH)

Candidates should answer the questions from the following part onmly if they have
opted for ENGLISH as LANGUAGE-II '

61. Complete the following sentence with

correct conjunction :
he had not paid his bill, his
electricity was cut off.

(1) But
(2) Either
«(3) Unless
s
—~ ,/
62. Chetse  the cofrect figure of speech;in

lays his icy hand on kings.
EEKY

(3) Apostrophe 1{5 !
(4) Simile T A
63. The study of population is known as
(1) Ecology
(2) Astronbmy
‘p) Demography
X,{ﬁ}) Genealogy

64. Give the meaning of the following
proverb :

A bird in hand is worth two in

a bush ' a P, 7

To catch two birds with your hands

To ‘be dissatisfied with ‘what you

have

It is better to be satisfied with what

you have than to try to get what is

not yours

To trap birds in bushes

-V e ”

(1)
()

@)

4
. Which of the following sounds is not

/ associated with the sound of a bell?

"(1) Chime
(2) Jingle
(’Paper—ll B

(3) Ring

_(4) Dang __

Personification 45’;‘?#‘2' *]/ e —jol-rZMy

\

<(4)\ over
igk out the correct synonym .of the
llowing word : Ny
Attenuate
1)
(2%
)
68. Pig
To add to their troubles the servant”
ran away. ' ’ .

(2) Having no money with me, I could
not give the beggar anything.
+ (3) I loved him because he was my
- friend.
(4) The servant ran away and added
‘to their troubles. '

Repent >
Force
Divide
Make thin

\
o)

k out the compound sentence:

the most appropriate preposition
plete the following sentence :
Why are you always so suspicious
" me? g - e -

(AT ~¢
70. Choose the correct alternative
v complete the following sentence :
The Headmaster to speak to
you.

wants

is wanting

was wanting

to

s (1)
(2)
(3)

(4) None of the above

10
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66. Fill in the blank with the correct
preposition :
Are you sorry _____ what you have
done? '
(1) with
. (2) for
(3) by

:
.
A




Directions : Read the given passage carefully
and answer the questions (Question Noa.
71 to 75) that follow by selecting the most
appropriate option.

Antarctica is an icy continent in the South
Pole. It is covered by permanently 'frozen
ground, is surrounded by water and is about
1'5 times longer than the United States.
The world’s largest desert is in Antarctica.
98% of the land is covered with a continental
ice sheet; the remaining 2% of land is
barren rock. Antarctica has about 87% of the
world’s ice. The South Pole ‘is -‘the
coldest, windiest and driest place on Earth.
The coldest temperature ever recorded on
Earth was at the South Pole; it reached as
low as —128:6 °F or —88:0 °C. On an average
most of the Antarctica gets less than 2 inches
of snow each year. Although scientific
"expeditions visit Antarctica, there are no
permanent human residents. This is because
of the extreme weather, which includes
freezing temperature, strong winds and
blizzards. There are about 4000 seasonal
visitors to Antarctica. Antarctica hasn’t always
been located at the South Pole. It has drifted,

like the other continents and has ranged

from the Equator during the Cambrian period,
about 500 million years ago to the South Pole.
During the time of the dihosaurs, Antarctica
was more temperate and housed dilnosaurs
and many other life-forms. Now there is very
little indigenous life.

T4

71. The word icy’ in the passage is a/an

noun

(1)

A2)

adjective

(3)

adverb

(4)

homonym of ‘ice’

Paper-1/B

11

72. The word /desert’ in the passage is a
(1) _foun
(2) pronoun-

(3) verb

(4) verbal

73. The word ‘windiest’ in the passage is a

second. form of verb

(1
" (2) superlative form of adjective
-

(3)

superlative form of adverb

(4) positive form of noun

74. Has Antarctica always been fixed in
the South Pole?

(1) Yes
JQ) No
(3) May be

Not given in the passage

(4)

775. Who are the earliest known inhabitants
of Antarctica?

(1) American scientists -
(2) ipdiap scientists
A3) Dinosa'urs
(4) It has.alway‘s been a (iesert o

[ P.T.O.
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Directions : Read the given passage carefully @"he word ‘narcotic’ in the passage
and answer the questions (Question Nos. means '

76 to 80) that follow by selecting the most
appropriate option. (1) great literature

The first thing which a scholar should bear
in mind is that a book ought not to be read
for mere amusement. Half-educated persons

read for amusement, and are not to be blamed @ gacap. Dooks
for it; they are incapable of appreciating the
deeper qualities that belong to a really great
literature. But a young man who has passed
through a course of University training should
discipline himself at an early day never to
read for mere amusement. And once the habit
of discipline has been formed, he will find .

it impossible to read for mere amusement. (1), different  departments _ in . the

@) intoxicant

«’(4) intellectual exercise
Y,

% The phrase ‘the higher faculties’ in the
passage means

He will then impatiently throw down any book University
from which he cannot obtain intellectual food, : N hi
any book which does not make an appeal (2), different ways, of enjoying things
to the higher emotions and to his intellect. )
But on the other, the habit of reading /(3) mental powers of,a 1'1'1gh order, for
for amusement becomes with thousands of understanding great literature
people exactly the same kind of habit as - . )

(4) superficial part of the mind

‘wine-drinking or opium-smoking; it is like
a narcotic, something that helps to pass the
time, something that keeps up a perpetua ‘]9. The word ‘eventually’ in the passage .

condition of dreaming, something that Denna
eventually results in destroying all capacity
for thought, giving exercise only to the surface @ after sc;me time

parts of the mind and leaving the deeper

springs of feelings and the higher faculties of ) at last o
perception unemployed. - @ .

<
\/16'. The writer believes that half-educated (3) mever

persons are not able to . (4) ihitially <
: ine-drinkin '
(1) enjoy wine-drinking \gf The word ‘unemployed’ in the passage
means
(2) enjoy dreaming (1) jobless

(3) think prope;lj; (2) in search of employment

‘ = (3) -not working

+ 4 appreciate hidden qualities of

¥ »  admirable literature (4) unused

'

12
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81. Which of the following is a 'eorrect
expression?

(1) As cheerful as a lark
(2) As busy as a bat
(3) As cunning as a dog

(4) As happy as a donkey

. The sentence, “This is the house in

which I was born”, is | @

* (2) a compound sentence /

(1) a simple sentence

a complex sentence

(4) a comcomplex sentence
83. Which of the
a preposition?
- A1)
(2) And -
(3) Yet
(4) Now

following words is

Beyond

‘ Whlch of the following words is an
(2) Face &

adverb? .
@ :
®©

*(1) Apace /
(3) Meek i3 O
(4) Fury ~

85. Join the following sentences tO make
a simple sentence :

The coffee isn’t too strong It won’t
keep us awake. v

(1) The coffee isn’t too strong to keep
us awake.

(2) The coffee isn’t too strong and
will not keep us awake.

(3) The coffee isn’t too strong SO it
won’t keep us awake.

(4) The coffee isnt too strong SO as
to keep us awake.

Paper-1/B 13

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click i ed by CamScanner

86. Fill in the blank with suitable pronoun :

My son and my daughter are very
fond of

(1) herself

- (2)

(3) themselves
.(4). himself

each other

87.'Give one word for ‘one who hates
mankind’.
(1) Nazist
(2) Fascist
~{3) ~ Misanthrope
(4) Sadist
88. Transform the following sentence into
‘a simple sentence ending with ‘book’ :
Let the book be given.
(1) Give me the book.
. (2) Give the book.
’(3) Please transfer the book.
(4) Can you give the book?

89. Transform the following sentence into

a direct sentence :

I asked Sheela if I, might know
 her father. b

(1) I said. to Sheela, “May I know your

'- - v

: father?”

(2) I told Sheela,
father?”

(3) I asked Sheela, “Can I know your
father?”

(4) 1 questioned Sheela, “Will I know
. your father?”

“May 1 know 'your

90. Fill in the blank to complete the
following sentence :

The Ministers are responsible
the Chief Minister of thClI' State for
their work. :

(1) for
<(2) to
(3) of Ko
(4) towards ”

[ P.T.O..



arT—III / PART—III
W11 (W%Fd) / Language-II (SANSKRIT)

wenefl FrefRTRam W % St % SN S A9 § AR AR WTe-I1 wn frhed WA T A

W : TRE TEETE F YR R TH Ho 61 F 63 | 65, Y dewr IRF’ Iame &
T o WAl o Hal IW S 1) bR

THOHER  Feg Al TEdEg, eeeq. R— (2) dweed agdf ar=ar
TR T AW S| S T e Ha A
areded)”’ gl qe wEd sfEeq—‘mm ueg: A SR T

e 5w Rravem sm=nd: e el e @ (4) Teeam =
a@ﬂﬂl “‘ﬁ; HIdT: qﬁ: :?” 31%” “m:r trﬁ{:
Wil PReR” s ng—(ﬁ Tt e | 66. I S0 e TR
saeg—" T w1 we:t s e e aelas” (1) I

3 oreq e ‘T 9 ge =t s sf \9/‘\’1&

Iaeq wedl:| Cagw: AsH-udd): waN: gaw

HFA Heg | 3) &
(4) S
61. Rawee s=nd: &:7
(1) @ 67. ‘T U1g A Y T ek T dm
\g x (1)
(4) T ~ ‘::
62. TERGV HTTE: TR @)
(1) i - (4) gfe:
g :::: | 68. ‘THRY:’ IWEW &
@ g (1) wEr &
. 63. FA): HeTy: TN TR g (2) oSGl
“ | \@rﬁw‘fﬂﬁﬁw
(4) TRV
69, ‘g’ e T ¥
) F AR YA
@ ®MTR
(3) I¥mQd
(4) 43I
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70. ‘T urg forg oT Y 77
(1) safemn
(2) SFIR
(3) TR
A T

=79

71. “H 9NR S § W WS ¥ wlarm a

Al
- (1) o At T
szwamvinm%
@) R
(4) STE: JMYOT TR

72. ‘Jufa’ § 9y §
(1) T

V(Z) &
(3)
() e

73. W dEFAR
(1) I
2) <
N
(4) IU
74, 37T TR-UE €
(1) 41, d, 999
2y ¥, T, T
@) e, s, I
(4) T, WG, TUB:

718

Paper-1/B

75. ‘AT GFa G TE }
) T
(2) 7 SATMTa:
(3) WhIG:
1 TR
76. ‘T ¥ YI YA T WA
(1) ¥ +7g |
LR O
(3) A +eH
(4) T + gL

77. AT TG
(1) ;9ER
(2) 9 (3TE3)

B T EALD
(4) forert o srgmfées

78. ‘37 YRR & I §
] T AMEL AL
(@) #¥3IT
(3) TMTMEILE
@ @Az |

79. ‘Tg=y:’ # 91 Aty '7
(1) = aF
J2) TR
(3) gfeafa
(4) == |fa

80. ‘T FWWEE

N2
(2) IreFEisE

(3) geliie

(4) =%

:_f [ P-T.O»
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81. ‘g’ e F1 WA TehawH &9 B
(1) =fig
(2) @
@) &
@ = . 5

g2, fra i ¥ A T =9 87
(1 =
N2
3 @
4

83. ‘=ifed’ a1 #§ H-1 YeId WIw Bl &7
(1) d8i
2 T
(3) ag
(4) <9

84. E@['ﬂ'@ﬁlaﬁvﬁm%"mwﬁ

agaﬁw%? \

85. ‘A A g Fha e §
(1) 15 (¥5%)
18 (373RE)
(3) 20 (=)
(4) 16 (i)

86. o § AR TR Y P A I R
(1) &=
@ T

E B
(4 TE

Paper-1/B
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87, TN AT il e

(1) grEwW

2 iR

(3) TrTges:
(4) dram:

ssﬁmaaﬂaaﬁmﬁﬁ“&m @

=l . -
(2) WA

(3), FEET

(4) FEEROTHIIITTE,

sg.séaaﬁﬁwm%
(1) eRewd
2y Tegsmfd
(3) il
(4) g

W

90:@?!81%?1 d @ ft wmm oW
‘gl e T 87 ,

(1) v
(2) ¥

(3) wHIfere@
N

R T TP
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HM—IV. / PART—IV
T / MATHEMATICS

91, forell sTHaf  amag 6 ¢
38 I 6 TRERa m?miaﬁ

(2) 39 6 e
(3) 38 I N I dyy
4) @ f = dm

92, TF TS el ¥ Ry} 5y
e et =iy

(1) Foreni¥e = ot 3 v gy % fud o

et el = o
ferenféiat =t w3 @ % e s
(3) Tl uiRfeufeml s R fyenefi '&'Fl
@M o 8
(4) ﬁ’aﬁq‘iaﬁwﬁmmaﬁ%maﬁ
M
93. aﬁﬁgaaas‘mﬁaﬂww’%l#ﬁw%ﬁ
" (1) e5°, 35° (2) 70°, 30°

\(3h 25°, 65° (4) 70° 110°.
94. 121012 F 12 § 9T A W ATHe &
(1) 0 (2) 2+ 4 ah N
@ 3 A e
95. freht forenefi & formt # @ wn aferen =R
(1) o w3l
(2) Torm wu@ A S gwa
(3) Thiers = g o &
@ mmwmqmﬁmsﬁmﬂ@ﬁ'ﬁ
T

96. ﬁwﬁnwﬁmmww%

@ The height of a rectangle in a histogram
(2) width of the class
(3) wupper limit of the class
" should not do which of the following?
' (1) Allow students to develop their own

shows
+1) frequency of the class @
___(4) lower limit of the class
92/1In a constructivist classroom, teachers
strategies to solve questions
(2) Ask students to rote memorize

formulae
(3) Create situations for exploration
(4) Allow students to construct

meanings for mathematical tools

The difference of two complementary
angles is 40°. The angles are

&3.

(1) 65°, 35° (2) 70°, 30°
(38) 25°, 65° @) 70°, 110°

When 121012 is divided by 12," the
remainder is

\9/.
- o 2 2

@) 3 o4) 4 |
@Whlch of the following - should be
assessed in a student? .

@) Mathematlcal communication =

(2) Capac1ty to memorize without
understanding x

Capacity to listen to teacher *

4) Attitude of not asking questions
even if the concept is not
understood .o

\96. The difference between the maximum-
and minimum observations is called

(1) R - (1) frequency
(2) 1 A : (2) class size
\__(/3}/ iR (3) range .-
(4) A (4) mean
% a;r& * %‘Q ’GITIE / SPACE FOR ROUGH WORK
Paper-1/B ‘ 21 [ PTO.
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"t 108,
— ',

97. H9H B annwléw 2

97/ The smallest prime number 1%

-2 2) 3 A1) 2 (2) :
@3) 5 @) 7 3) 5 (4) s
98. Tl WEa % 3 1 2, 24 Fae y, WIW | 981124 is Zof $ of a number, then
HEA %W g ' will be 71} of that number?
‘(38) 10 (4) 32 3) 10 l (4) 32
99. 7+2/10,51 i E ?}' The square root of 7+24/10 is
(1) (V6+1) 2) (V3+2) (1) (6+1) 2) (V3+2)
j) (v2 ++/5) (4) (2+«/§) 3) (V2 ++/5) (4) (2+«/§)
0% i Il fafer =1 The most important person, rc_alated’ 1trc;
3 G the method of ‘Analysis of Variance
(1) +ARe Qo o =t Statistics, was 4
'A isher
| H R. A. Fis
(3) T Gauss
) Laplace -
() = . ' _ (4) Newton
101 %@ﬁmgw SgonT g7 L 20 -%f AT o 8th part of 60% of a number is 36,
" | then that number is '
Al 100 (i) ;z v 1) 1100 () 75
@ = £ (3) 80 (4) 90
102. 7 %, @W e .. . mis afan
() N J . s (1) rational number
L . : M ' N (2) irrational number
(3) AT W& ' 4 (3) prime number
(4) R , (S} (4) integer
; P el
ot 2=L-C, @ arbremmmt 103: 2P =& then the value of T2+ ¢ ¢
1 2 . (2 7 1) V2 @ 7
' 1. . 1
ik 7 © 2 5 7
2 p ’ 7 ‘, . . N
36x459%312) % TAEA ¥ T | 104 The digit of unit place in
P $I7§;2 ' /(378 x236x459%312) will be
(1) 6 (2) 8 1) 6 7 . (2) 8
3) 2 4 (3) 2 @) 4
7% & % fg S8 / SPACE FOR ROUGH WORK
paper-1/B 22
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105. 3 HEqsll * Heww

TG T 12 T 72 ) e 0T
wmﬁoﬁ,ﬁmﬁa@%ﬁfﬁwaﬁ
(1) 12 2 24 ‘
(3) 60 (4) 72
106. T & F HAE W fyeay |
29x4 I Hifs) e
T ferenefl A 1ot srame -t w -
mamﬁmmgﬁﬁm:ﬁwﬂ
2 .
27
x~4.1
108
(1) fremeffwosm = .
2) 39 faeneff ¥ wen § 9ok W Y FEw
0 37 1 91fge \
(3) <& Toeneff #t 5 s/t § A 2 i
“A4] T® FRO SEH K T HN =R FR
forneff 3 w7 A E@ w @ TP
| yhE F QR 5 A A R
107. A Tt =g F1 FA-I 395 FFa-1ea

3R, @ @ = Tl wie @
(1) 331% @mw
331% ‘ '
(3) 331% @ Ak
(4) 334% o g
BERTS

108. fmft FR A TW FARt B FA
660 m2 ¥ g ‘e I e H g B
AR R B SIE 11 m B, @ IR ST B
~(1)y” 200 m? @ 150 m?
(3) 100 m? (4) 75m?

wd

(%0

\ {(/‘W/
The HCF and LCM of two numbers are
12 and 72 respectively, If the sum of
these numbers is 60, then one of the

\}07(

gt

n 4-’;”

numbers will be =\
T ’
1) 12 - /) 24 mva'
60 4) 72
=/ ) A uz ¥ L4
A teacher wrote on the blackboard :
Find 29x4.
e

A student copied it on her notebook
as 27)54 and solved it as follows :
2
27
x 4
108." -

The teacher sh’bﬁld

(1) give 0 mark to the student
‘ @ask her to be attentive in the class
' and give 0 mark :
(8) give 2 marks out of 5 marks to the
student

try to ascertain the reason of
wrongly copying the question by the
student and give her full 5 marks
for the correct process ; i
]\.97./If the cost price of an article is % of its
selling price, then the profit or loss

percent is 1
(1) 331% profit @ (v

54
% 331% loss \$®
(3) 334% loss

(4)

(4) 33%% profit

The total area of four walls of a room is
660 m? and the'length is twice its width.
If the height of the room is 11 m, then
the area of its ceiling is 7 A

2) 150 m?

(4) 75 m?

\1}8.

A1) 200 m?
(3) 100 m?2

wsw& G0

¥

Paper-1/B
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109. 9 W& 604__6, 11 ¥ fwea @, @ &

\1-96 . If 604_° 6 is divisible by 1il’ then the
integer in the blank space

T I QU @ 2
(1) 1 2 3 (L)l (4) 5
110. 2041 ¥ % wafufira s TR 3 ( 1J0/ Who was  the Clihe20th century?
==fte 1 47 ' 0 Amyabhatta
(1) e ryabnats
(2) M e (2) Sridharacharya
(2) Aerrard 7 /(3) Srinivasa Ramanujan
B) AiFErE THIgeH (4) Harish Chandra _
4) == 11¥, Twice the larger of two aumbers is ::ihé‘}t:e
111, A GEett § A 7€ g W g 9 w1 % more than five times the smalle? Znthreg
o T ¥ f e & a9 e % IR T sum of four times the JargP i
MR 7 1w = times the smaller is 71. What are the
. ?}l'i’l Fen F F1 A 71 ¥ 9 numbers? 2 A ;lgvy"} @
1) 43,8  UoePAivo @15 o @ 1y
B 14 5 @ 17,1 cube gte {s(ide 5cm is p.';inted on all its
X cubes,

112. 5 cm S 9@ TF o9 & qeft wewn WO
SR ST B AR g8 1 em S A oA § R
AR, @ 1 cm3 TR R T FE T

HRER &R

(1) 142 2) 27

(3) 42 4y 54 :
113.qﬁaaﬂﬁmﬁr@ﬂqaﬁﬁ%aﬁaﬁ@

< Yeor gee S §, A A W H HE-4
Ayl B 87 L
(1) e SR e

(2) e, HAE SR TEEH

V)

faces. If it is sliced into 1 cm™
how many 1 cm® cubes will have exactly
~one of their faces painted?
) 142 2) 27

(3) 42 ~4) 54
113. Which measures of central tendency’ get
affected if the extreme observations on
both the ends of a data arranged in
descending order are removed?
(1) Mean and median
(2) Mean, median and mode
(3) Mean and mode '

ey I Tge : (4). Mode and median
(4) ¥gIH 3R HIEAS i B UA{ F,.xtrﬁry 3digi1;l (’)I‘f a natural number is
114. T TR GE T TS 75 T @34 either 3 or 4. The number is divisible by
3| 75 GEN 3 R 43 A fnfia B 21 gzt;s;??nd 4. What is the smallest such
e g oY) e 71 7 1 333 3 ;
e «(1) 2) 444
(1) 333 2) 444 (3) 44 :
(4) 4444
(3) 44 o 4),4344 115. Find the sum of all the inter]
115. Fay= & a4t =TI 4 g1 Eﬁ”‘? | \} a pentagon. € Interior angles of
(1) 450° (2) 180° . (1) 450° (2) 180° .~
(3) 360° _JApeR0l (3) 360° A9 5400
1% &4 % I TE / SPACE FOR ROUGH WORK
o ] @ 26
/ K% \ @
| - g
Paper-1/B 24 R
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116. T @ F 4 9T =g § dm 3w 0
ngﬁwmwaﬁmm% @ R T
8 Hiet T w1 @l 3t ft g § 8 gy

1 7t TeTs o g

@) 12 9ix
117. A ¥R B Tl %M #1 12 7 § o g 3

R cI Fwm A 15 e A qur caik 4
WWﬁzo%ﬁwm%lAmm
%W i forad fom & @ wom?

(1) 10T

(2) zo‘g

30

\/(iT 40 T

118. AABCH y=1aft % weafagd waen: D, Eaﬁt
F?I T 89 =9-w v ®7

ADEF &l &9%d = AABC'cn"I RERTS

(2) ADEF ¥ §7%d =1 AABCH! CELT]
(3) ADEF ! &% = AABCEFI R
(4)~ ADEF %1 8% = 4AABCW PR

119. AR A TS F IR AT IR SHA:
5 QT 36 B, @ Ik gehdl 1 FR ¢
5 /

),

31
36 @ 36
5 o] EBd
(3) 5 (4) 3 .2 (

120. %ﬁﬁ‘:ﬁaﬁam%aﬁwwﬁé%l
U HEN F 9 WS ¥ Wig weAr § A b WH

‘/6 = 4 of a pole is in the mud., When 1 zofitis

pulled out, an 8 meters long plece of
" the pole Stlll remains in the mud. What
is the total length of the pole?
A1) 21 meters
(2) 25 meters
(3) 30 meters
(4) 12 meters

\/Y{ A and B can do a piece of work in

12 days, B and Cin 15 days, Cand A
in 20 days. How long would A take
separately to do the same work?
(1) 10 days
(2) 20 days -

A3) 30 days

(4) 40 days

. D, E and F are respectively the midpqints
of the sides of AABC. Which of the
following is true?

1

Area of ADEF = Area of AABC
Area of ADEF:% Area of AABC

Area of ADEF=% Area of AABC
Area of ADEF:% Area of AABC

(1)
(2)

B
44)

. If the difference and the product of two
numbers are 5 and 36 respectively,
then their reciprocals differ by =

31
(_1) ? (2) 56—
(3) 9 (4)

. A two-digit number is such that .the
product of its digits is 6. If 9 is added to
the number, the digits are reversed. The

WW%F%H@T% iy <8 number is
(1) 16 (2) 35 " L (1) 16 (2) 35
(3) 43 ) 23 (3) 43 Jd4) 23
T q,-r&:ﬁ; frg W / SPACE FOR ROUGH WORK Y.
@ e O
£ ; ( 6 1, uh gt 3
o (203 TR
A g, . \ A
P ‘\’47 ﬁ':ce’
aper-1/B @5‘\ 25 5 PT.O.
we’
a4
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aqT—V. / PART—V
yaterufa siegad / ENVIRONMENTAL STUDIES

121. wRa # fAfaRed § § wR-d e g8 §9
Y TG o AIGA ¥ Haftd 27
(1) o e
2) 41 g fem g
(3) el ST AT
(4) TS 3T 3o
122. ‘TR Th SHd SaTengd! §, S AEedd
(1) Tl 4 (2) ¥@WHA
&r@aﬁﬁ (4) Vbt
123, foeaa 1 g 7€ YRa | BR AW ¥ ST

et 27
(1) T (2) I
B T (4) ey

124. gE-4f & % R T ae § g
_ % IJUIHT BN ©
IMHERI
(2) WETEH
(3) Sfarg
) HETERY AT TTRER
125. W@ﬁﬁlﬂg@ﬂ,@hgﬁﬁ—aﬁ%m
3, e
(1) wamEsed (2 @vEed

(3) wwEHSH (4) AETHSA
126. T T FaaT afteg # e ot wew ¥/

(1 3 (2 4

3y 5 v @ 6
127. Gl THE SF AR

(1) wemaTEad (2) TR

NE R (4) o H
128. mﬁf@rﬁlﬁﬁﬁﬁﬁiﬁrg@aﬁﬁ%

(1) T Rode  2f T

(3) o To Qo (4) Mo To To
Paper-1/B
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agencies

the following
the

concerned with
on in Indla?

Which of
is  primarily
measurement of polluti
(1) Green Tribunal
2) Central Pollution Cont
(3) Central Water Commission
(4) Survey of India -

@- ‘Cotopaxi’ is an active volc@ﬂfituated
in

\1}1.

rol Board

(1) Sicily (2) Hawaii

(3) Andes (4) Rockies |
]./23/. Tsangpo river 61’ Tibet, in India, is

known as _

(1) Ganga (2) Yamuna

\()3) Brahmaputra (4) Indus
@. In a food chain of grassland ecosystem,
the top consumers are

(1), herbivorous @
(2) carnivorous

(3) bacteria 7

(4) either carnivorous or herbivorous

leyThe main atmospheric layer near the
surface of the earth is

(1) stratosphere | (2) troposphere
(4)
2. The number of permanent members of

the UN Security Council is

(1) 3 2 4

@ 5 /9 6

y7 Sariska Natlonal Park is situated in

(1) West Bgngal -(2) Gujarat

. (3) Rajasthan (4) Assam

. The main. source of energy in an
ecosystem is
(1) ATP-
(3) DNA

(3) mesosphere ionosphere

~(2) sunlight
(4) RNA

26
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129. "THRH 1 Grary 3
NURLE @) ¥
130. ST TR STel-wrgyuy REITCE
(1) 3| wew &
-(2) TH Wy A
~(@3) fawemr#
A e s §
131.a=qeﬁa§wa¢ﬁ:ﬁmmﬂaﬁmw;1
(1) 1960 # @) 192%
3 1972 % (4) 1975 ﬁf
132. q\aﬁaé‘laﬁﬁuﬁmﬁ%%%
(1) mv@w
(2)
'/(3)’ %ua'-r
@) e
133. %ﬂ%ﬂ%aﬁm%ﬁmﬁsﬁaﬁm
T 37
(1) <E
(2) oAtses Frren ;
1 (3) 'q\o‘q_‘ao'Qo X b .. N
\/(4) ’CL\OT{HO'QHO 3:['['{0' Vol B
134, gaAT] el el 8

/ o i
N/

NG ks (2). afeel AR
@ wama (@) R
135. 5T # “Foe 2R’ e fe T A
(1) 1972 % 2y 19738
(3) 1981 A (4) 19857
136. ‘el o = ST 8 . \
(1) S-heeR & ek SRy
(2) TmrEe wen A T
(3) - fafem &
v s FREUE |
Paper-1/B

139. ‘AGMARK’ is related with
(1) quality
(3) processing

(2) packaging
(4) production

1\@1‘he problem of water pdllutidn with

arsenic is maximum in

r(l) Uttar Pradesh _

(2) Madhya PradesP/
(3) Bihar
(4) West Bengal

@. The Wildlife Protection Act was passed
2

in @
(4)

(1)
(3)

J32. The process of curd production from

milk is known as '

1962
1975

1960
1972

(1) photosynthesis
(2) distillation

43)
(4)

fermentation
sterilization

133/ Fundamental Duties are adopted from
the Constitution of which country? -’

(1)

(2)

(3)

(4)
\]734. The Polestar is
(1) North star
(3) East star

Germany . ..
United ngdom
USA

USSR v

,‘4 ¢
7

s
South star

@ ‘
(4) West star

. ‘Project Tiger’ was started in india in
1972 (2) 1973

(3) 1981 (4) 1985

136. The Valley of Flowers is located in
(1) Jammu & 'Kashmir
'(2) Himachal Pradesh
(3) Sikkim +*

27

. (4) 'Uttarakhand

‘SH[+P.T.O.
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137. U 99k A T Fa sifdedl 6 de

Bl 37 .

(1) 305 2) 275
) 206 @) 175
13§.Mézﬁwm§waﬁaﬁ®a%
() (2) felia

A3y Twedn H (4) TR #

139. WHNI-GTNU & WHE =0T F RE
. T SARHO T T 9= B ¢
() W W, NADP
"~ (2) NADPH,, CO,
(3) CO,, 5
(4) CO,, NADPH,

140. TFo Ho Sfio F Tef § w1 ¥ EH 87
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1\3]( How many bones are presentin &
human being?
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@ The Headquarters of Greenpecace
International is located i D

(1) New York (2) ~Sydney
\# .
'(:3) Amsterdam  (4) Nagasakl

(2) 275
175

@- During light phase of photosynthesis,
is oxidized and is reduced.

water, NADP @
(2) NADPHj, CO2 D

! :

— CO,, water M
4) COq, NADPHo

130.‘ What is not true for LPG?
(1) It is a clean fuel

(2) It has high calorific value
(3) ' It burns with blue flame

It is methane emitting

\1}1 The Origin of Species is a work of
(1) Aristotle
(2) Charles Darwin
(3) Mendel |
(4) Robert Hooke

\1!42. The Tropic of Capricorn is

1, 1
(1) 233 (2) 23-°N

2 ) )
©) 23378 @ 23°s

1,43. The Head Office of The International
Court of Justice is situated in

(1) Geneva L @ The-Hague

(3) New York (@) Paris
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(3)

. The Constituent Assembly adopted our
National Anthem on

. (1) 20th January, 1950
" j2) 24th Janyary, 1950 1, | |
‘ (3) 21st May, 1949
‘. 4) 13th ‘November, -1949 -

+» 145, Where‘ is Pushkar Fair held?
_/ (2)” dealpur
@) ‘Ajrier

(1) Jalpur
3 Jodhpur'

. Which of the following ultraviolet rays is

" more dangerous? e @
: )

(1) UV-A
@ Uv-B " R
@ uv-c AL
@ None of the above
3 oA - Coy

. Which of the followlng is not an ab1ot1c
component of biosphere? ~

(B Protein ; 1 @ Soil
@ Pungi (4) Phosphorus

148. ‘Gir Lion Project’ is situated in
) Jl) GquﬁaL v
{\daharaéhtra 1

I:Ittar Pradesh

(4) Madhya Pradesh

1497 WWF stands for
(1) World Wide Fund
(2) World War Fund
(3) World Wildlife Fund
(4) World Watch Fund

'1)56'. The river Ganga rises from
(1) Aravalli range
(2) Ladakh glacier
A3) Gangotri glacier
(4) Milap glacier
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